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=2 was included as a hand - INANR T WA XN

OVERVIEW

"WX 21 explains the various laws concerning 2X71; which are: Regarding X xn
a NNwnn X is always 7112, but a nRNWH A1RW X0 is 7132 only when 7w
17¥2. Regarding 7inn (according to ¥95 17) the 7x7 is always 1P regardless
it is N7MNWA or NANWA 7K and even if 77¥2 7 11X, Regarding vi a 7¥m is
1P only if 77%2 7MWY (regardless if it 1s NAMNWA or not). MdYIN explains how
WX 21 resolves these differences by saying that 73 X9 °X270K 7 Dwn T30
mmown.

— N9 Y¥a19%9N NNP 1yasn 183 NINWS 139907 191 X3 1 99 199
And therefore (since 7° 0wn 7¥r) when the 1% is similar to 7°, meaning
when the 7177 is standing alongside his 931, he is 71? even against his

will, in those cases where it would be a1y against his will if it was placed in the hand
(for instance w17%)) -
— 213 130D 199N IN

Or even a mup is P through 2% 11p if she is standing alongside the X,
just as her hand is 71 for a mvp.

— 197 NYT 91 NDT N98NY N9I1ID NIIRY

And when she is not alongside her 227, so that the %77 is not similar to 7.

— NOYY P79 PN 3133 597 T PTIY PNT 2357 53 N1ION XY

You should not assume that just like (in this case) the 17X does not have

the ruling of 7% (meaning that it cannot be 3"¥2 71p), so too the X1 does

not have the ruling of n»w (and you cannot be 7y with such a 2%n); this is not

SO -
— MNYYUN ¥9) XY NIN

But rather this type of 1317 is no less than Ny w; the 1xn is considered a mow
of the owner of the 7xr.

— NINHYN NN 1DIANRY 198N T8 419IY 12N 199N N3P NINN 1195 MY Y9193)
And regarding items which are beneficial for the 2777 5v2, for instance a
gift which was placed in the 7xm, he acquires it, and even if he is not 72w
9921 732 and even if it is (also) not a n9ANWMAT XM, nevertheless the 73 is AP

for him M oY ayvn.
— PHHYN 1I¥a NN NIPNI HINN HYT PNT DNINNDIY

" When the person is 17°%1 7¥2 721 the %1 is considered as 17%; just as 17> is next to the person, similarly
when he is 17X 7¥2 T the 7317 is next to the person.
* This is amended to read 77°3.
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However by 2% even though it is a M7 for him, but since there is no ny7
'R mamn nanR then in order for the 781 to be 1P if he is not 1782 7MY, we

require that it be a nanwnT 1¥n.!
— NYNN NIR NINNYNA IPON 1Y XIN 2INT V)2

And by v» where it is detrimental to her, then even by a naanwn»i 7xn she

is not divorced if the v3 is placed in her n9ANW»T 73, unless she is 7Y 72 NTAW
where the 7%r is > QW TP -
:°19303 XYY DIRY 192N PRT MNSYYUN NOXTY NYT

For where one is not 17°¥717 782 77 even if it 1S NYRNWH, this X7 is no better
than nibw, where the rule is that one cannot become an agent to harm a
person not in his presence.

SUMMARY

When one is 17°¥17 7%2 721V then the 2% is 7° 2w 71 and is 7P even 2"v2
just like 7°. When one is not 1%n 782 72 then the 781 is MW 177 and
cannot be 3"v2 11p, however if it is beneficial then it is 7137 by anwn, and
by minn it is 7P even by Nwn XY since there is WNIX 71K NINR NYT.

THINKING IT OVER

MpoIN states that by va if she is not 77°X7 7¥2 N, the XN (which is then
mmow avwn) is not AP for her since Y102 X>w DX 1°an 1PX.° What would be
if the woman said she wants the 7% to be 1719 her v, will it be 713 (for then
it will be like a 792p% m°%w) or not?’

% \MX 73pn NINR NYT means that there is another party who is knowingly granting this item to the owner of
the 1x11; such as by a minn. However by nX*¥» no one is granting the finder anything.

* mpoIn does not elaborate how 73pn NAAR N7 allows a NAANWA 1PRY 137 where the owner is 17¥3 72 X to
acquire a i11n7, since such a 777 is not 7X°¥N2 P (ostensibly because a NNWwn APRW X7 is ineffective to
serve as a m°7w). How does the 73pn nanx nyT compensate for that? See w'"X17 N9 and 731 5" Mo,

5 One can autonomously become a m°2w on behalf of another for his benefit; however one cannot become a
9w autonomously on behalf of another for his detriment. 721X gives money to 1W»w in order that 1Wnw
give it to ™%. It is possible for 1w (on his own) to become a m°%w for 17 so that as soon as the money is
given to 1nw he is 7217 the money for 12 (and 12387 cannot rescind his gift to "17). However if 12187 gives a
03 to NWAY to deliver it to s'12IX1 wife, then even after 19nW receives the v he cannot become a W for the
wife that it should be considered as if she already received the va (he cannot appoint himself as a 722p% mow
on behalf of the wife), since receiving a v is considered a 2117 for the woman. Similarly the 2%n cannot
‘appoint itself’ to become a 7172p% 7w for the v3. See ‘Thinking it over’.

® See footnote # 5.

7 See 2 PXa (on the V3 23 71" XIM).
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